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от 12 октO5DO 2019 7. N 2406-D 

 

  !п8Eок 87<е=ONI8E доку<е=то6 

(6 Dед. D4EпоDO6е=89 �D468телLEт64  $ от 26.04.2020 N 1142-D, 
от 12.10.2020 N 2626-D, от 23.11.2020 N 3073-D, от 23.12.2021 N 3781-D, 
от 30.03.2022 N 660-D, от 24.08.2022 N 2419-D, от 06.10.2022 N 2927-D, 

от 24.12.2022 N 4173-D) 

 

 

1. 'т6еDд8тL: 

пеDеGе=L 687=е==о =ео5Eод8<KE 8 646=е9H8E лек4DEт6е==KE пDеп4D4то6 длO 
<ед8F8=Eко7о пD8<е=е=8O Eо7л4E=о пD8ло6е=8N N 1; 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 12.10.2020 N 2626-D) 

пеDеGе=L лек4DEт6е==KE пDеп4D4то6 длO <ед8F8=Eко7о пD8<е=е=8O, 6 то< G8Eле 
лек4DEт6е==KE пDеп4D4то6 длO <ед8F8=Eко7о пD8<е=е=8O, =47=4G4е<KE по DеHе=8N 6D4Gе5=KE 
ко<8EE89 <ед8F8=Eк8E оD74=874F89, Eо7л4E=о пD8ло6е=8N N 2; 

(пеDеGе=L утD4т8л E8лу -  4EпоDO6е=8е �D468телLEт64  $ от 23.11.2020 N 3073-D) 

пеDеGе=L лек4DEт6е==KE пDеп4D4то6, пDед=47=4Gе==KE длO о5еEпеGе=8O л8F, 5олL=KE 
7е<оD8л8е9, <уко68EF8до7о<, 78поD874D=K< =4=87<о<, 5оле7=LN �оHе, 7лок4GеEт6е==K<8 
=о6оо5D47о64=8O<8 л8<Dо8д=о9, кDо6ет6оD=о9 8 DодEт6е==KE 8< тк4=е9, D4EEеO==K< 
EклеDо7о<, 7е<ол8т8ко-уDе<8GеEк8< E8=дDо<о<, N=оHеEк8< 4DтD8то< E E8Eте<=K< =4G4ло<, 
<укопол8E4E4D8до7о< I, II 8 VI т8по6, 4пл4Eт8GеEко9 4=е<8е9 =еутоG=е==о9, =4EледEт6е==K< 
деD8F8то< D4ктоDо6 II (D85D8=о7е=4), VII (л458лL=о7о), X (!тN4Dт4 - �D4уMD4), л8F поEле 
тD4=Eпл4=т4F88 оD74=о6 8 (8л8) тк4=е9, Eо7л4E=о пD8ло6е=8N N 3; 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 26.04.2020 N 1142-D) 

<8=8<4лL=K9 4EEоDт8<е=т лек4DEт6е==KE пDеп4D4то6, =ео5Eод8<KE длO ок474=8O 
<ед8F8=Eко9 по<оI8, Eо7л4E=о пD8ло6е=8N N 4. 

2. �D87=4тL утD4т86H8< E8лу D4EпоDO6е=8е �D468телLEт64  оEE89Eко9 $едеD4F88 от 10 
дек45DO 2018 7. N 2738-D (!о5D4=8е 74ко=од4телLEт64  оEE89Eко9 $едеD4F88, 2018, N 51, Eт. 
8075). 

3. �4EтоOIее D4EпоDO6е=8е 6Eтуп4ет 6 E8лу E 1 O=64DO 2020 7. 
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�D8ло6е=8е N 1 

к D4EпоDO6е=8N �D468телLEт64 

 оEE89Eко9 $едеD4F88 

от 12 октO5DO 2019 7. N 2406-D 

 



 

�� �'��0 

�������О ��О�%О���/% � ������(�% Л�К� !&����/% � ��� �&О� 

�Л/ ����&��!КО�О � �������/ 

 

  !п8Eок 87<е=ONI8E доку<е=то6 

(6 Dед. D4EпоDO6е=89 �D468телLEт64  $ от 12.10.2020 N 2626-D, 
от 23.11.2020 N 3073-D, от 23.12.2021 N 3781-D, от 30.03.2022 N 660-D, 
от 24.08.2022 N 2419-D, от 06.10.2022 N 2927-D, от 24.12.2022 N 4173-D) 

 

 

Код �&% �=4то<о-теD4пе6т8GеEко-

E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе 
пDеп4D4тK 

Лек4DEт6е==Kе DоD<K 

A п8Iе64D8телL=K9 тD4кт 8 
о5<е= 6еIеEт6 

  

A02 пDеп4D4тK длO леGе=8O 
745оле64=89, E6O74==KE E 
=4DуHе=8е< к8Eлот=оEт8 

  

A02B пDеп4D4тK длO леGе=8O 
O76е==о9 5оле7=8 
6елудк4 8 
д6е=4дF4т8пеDEт=о9 
к8Hк8 8 
74EтDоM7оD47е4лL=о9 
DеDлNкE=о9 5оле7=8 

  

A02BA 5лок4тоDK H2-

78Eт4<8=о6KE DеFептоDо6 

D4=8т8д8= D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

  D4<от8д8= л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

A02BC 8=7858тоDK пDото==о7о 
=4EоE4 

о<епD47ол к4пEулK; 
к4пEулK к8HеG=оD4Eт6оD8<Kе; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  M7о<епD47ол к4пEулK к8HеG=оD4Eт6оD8<Kе; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 



 

66еде=8O; 
т45летк8 к8HеG=оD4Eт6оD8<Kе, 
покDKтKе пле=оG=о9 о5олоGко9; 
т45летк8, покDKтKе 
к8HеG=оD4Eт6оD8<о9 о5олоGко9; 
т45летк8, покDKтKе о5олоGко9 

A02BX дDу78е пDеп4D4тK длO 
леGе=8O O76е==о9 
5оле7=8 6елудк4 8 
д6е=4дF4т8пеDEт=о9 
к8Hк8 8 
74EтDоM7оD47е4лL=о9 
DеDлNкE=о9 5оле7=8 

68E<ут4 тD8к4л8O 
д8F8тD4т 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

A03 пDеп4D4тK длO леGе=8O 
Dу=кF8о=4лL=KE 
=4DуHе=89 6елудоG=о-

к8HеG=о7о тD4кт4 

  

A03A пDеп4D4тK длO леGе=8O 
Dу=кF8о=4лL=KE 
=4DуHе=89 6елудоG=о-

к8HеG=о7о тD4кт4 

  

A03AA E8=тет8GеEк8е 
4=т8Eол8=еD78GеEк8е 
EDедEт64, MD8DK E 
тDет8G=о9 4<8=о7Dуппо9 

<е5е6еD8= к4пEулK E пDоло=78Dо64==K< 
6KE6о5о6де=8е<; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

  пл4т8D8лл8= D4Eт6оD длO подко6=о7о 66еде=8O 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

A03AD п4п46еD8= 8 е7о 
пDо876од=Kе 

дDот46еD8= D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO 8=JекF89; 
т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

A03B пDеп4D4тK 5елл4до==K   

A03BA 4лк4ло8дK 5елл4до==K, 
тDет8G=Kе 4<8=K 

4тDоп8= к4пл8 7л47=Kе; 
D4Eт6оD длO 8=JекF89 

A03F Eт8<улOтоDK <отоD8к8 
6елудоG=о-к8HеG=о7о 
тD4кт4 

  



 

A03FA Eт8<улOтоDK <отоD8к8 
6елудоG=о-к8HеG=о7о 
тD4кт4 

<етоклопD4<8д D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO 8=JекF89; 
D4Eт6оD длO пD8е<4 6=утDL; 
т45летк8 

A04 пDот86оD6от=Kе 
пDеп4D4тK 

  

A04A пDот86оD6от=Kе 
пDеп4D4тK 

  

A04AA 5лок4тоDK 
EеDото=8=о6KE 5HT3-

DеFептоDо6 

о=д4=EетDо= D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
E8Dоп; 
Eуппо78тоD88 Dект4лL=Kе; 
т45летк8; 
т45летк8 л8оD8л878Dо64==Kе; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

A05 пDеп4D4тK длO леGе=8O 
745оле64=89 пеGе=8 8 
6елGе6K6одOI8E путе9 

  

A05A пDеп4D4тK длO леGе=8O 
745оле64=89 
6елGе6K6одOI8E путе9 

  

A05AA пDеп4D4тK 6елG=KE 
к8Eлот 

уDEоде7окE8Eоле
64O к8Eлот4 

к4пEулK; 
EуEпе=78O длO пD8е<4 6=утDL; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

A05B пDеп4D4тK длO леGе=8O 
745оле64=89 пеGе=8, 
л8потDоп=Kе EDедEт64 

  

A05BA пDеп4D4тK длO леGе=8O 
745оле64=89 пеGе=8 

DоEDол8п8дK + 
7л8F8DD878=о64O 
к8Eлот4 

к4пEулK; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O 

  O=т4D=4O к8Eлот4 
+ <е7лу<8= + 
8=о78= + 
<ет8о=8= + 
=8кот8=4<8д 

D4Eт6оD длO 8=Dу789 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

A06 Eл458телL=Kе EDедEт64   

A06A Eл458телL=Kе EDедEт64   



 

A06AB ко=т4кт=Kе Eл458телL=Kе 
EDедEт64 

58E4код8л Eуппо78тоD88 Dект4лL=Kе; 
т45летк8, покDKтKе 
к8HеG=оD4Eт6оD8<о9 о5олоGко9; 
т45летк8 к8HеG=оD4Eт6оD8<Kе, 
покDKтKе о5олоGко9 

  Eе==о78дK A 8 B т45летк8 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

A06AD оE<от8GеEк8е 
Eл458телL=Kе EDедEт64 

л4ктуло74 E8Dоп 

  <4кDо7ол поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO пD8е<4 6=утDL; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO пD8е<4 6=утDL (длO 
дете9) 

A07 пDот86од84Dе9=Kе, 
к8HеG=Kе 
пDот86о6оEп4л8телL=Kе 
8 пDот86о<8кDо5=Kе 
пDеп4D4тK 

  

A07B 4дEоD58DуNI8е 
к8HеG=Kе пDеп4D4тK 

  

A07BC дDу78е 4дEоD58DуNI8е 
к8HеG=Kе пDеп4D4тK 

E<ект8т 
д8окт4MдD8GеEк8
9 

поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
EуEпе=78O длO пD8е<4 6=утDL; 
т45летк8 д8EпеD78Dуе<Kе 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

A07D пDеп4D4тK, E=864NI8е 
<отоD8ку 6елудоG=о-

к8HеG=о7о тD4кт4 

  

A07DA пDеп4D4тK, E=864NI8е 
<отоD8ку 6елудоG=о-

к8HеG=о7о тD4кт4 

лопеD4<8д к4пEулK; 
т45летк8; 
т45летк8 6е64телL=Kе; 
т45летк8-л8оD8л874т 

A07E к8HеG=Kе 
пDот86о6оEп4л8телL=Kе 
пDеп4D4тK 

  

A07EC 4<8=оE4л8F8ло64O 
к8Eлот4 8 4=4ло78G=Kе 
пDеп4D4тK 

<еE4л478= Eуппо78тоD88 Dект4лL=Kе; 
EуEпе=78O Dект4лL=4O; 
т45летк8 к8HеG=оD4Eт6оD8<Kе E 
пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9; 
т45летк8, покDKтKе 
к8HеG=оD4Eт6оD8<о9 о5олоGко9; 



 

т45летк8, покDKтKе 
к8HеG=оD4Eт6оD8<о9 пле=оG=о9 
о5олоGко9; 
т45летк8 к8HеG=оD4Eт6оD8<Kе, 
покDKтKе пле=оG=о9 о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<; 
7D4=улK к8HеG=оD4Eт6оD8<Kе E 
пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
о5олоGко9; 
7D4=улK E пDоло=78Dо64==K< 
6KE6о5о6де=8е< длO пD8е<4 
6=утDL 

  EулLD4E4л478= т45летк8 к8HеG=оD4Eт6оD8<Kе, 
покDKтKе пле=оG=о9 о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

A07F пDот86од84Dе9=Kе 
<8кDооD74=87<K 

  

A07FA пDот86од84Dе9=Kе 
<8кDооD74=87<K 

58D8до54ктеD88 
58D8ду< 

к4пEулK; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO пD8е<4 6=утDL 8 
<еEт=о7о пD8<е=е=8O; 
л8оD8л874т длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL 8 
<еEт=о7о пD8<е=е=8O; 
поDоHок длO пD8е<4 6=утDL; 
поDоHок длO пD8е<4 6=утDL 8 
<еEт=о7о пD8<е=е=8O; 
Eуппо78тоD88 6478=4лL=Kе 8 
Dект4лL=Kе; 
т45летк8 

  пDо58от8к 87 
58D8до54ктеD89 
58D8ду< 
од=око<по=е=т=
K9 
EоD58Dо64==K9 

к4пEулK; 
поDоHок длO пD8е<4 6=утDL 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

A09 пDеп4D4тK, 
EпоEо5Eт6уNI8е 
п8Iе64Dе=8N, 6клNG4O 
DеD<е=т=Kе пDеп4D4тK 

  



 

A09A пDеп4D4тK, 
EпоEо5Eт6уNI8е 
п8Iе64Dе=8N, 6клNG4O 
DеD<е=т=Kе пDеп4D4тK 

  

A09AA DеD<е=т=Kе пDеп4D4тK п4=кDе4т8= 7D4=улK к8HеG=оD4Eт6оD8<Kе; 
к4пEулK; 
к4пEулK к8HеG=оD4Eт6оD8<Kе; 
т45летк8, покDKтKе 
к8HеG=оD4Eт6оD8<о9 о5олоGко9; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8 к8HеG=оD4Eт6оD8<Kе, 
покDKтKе пле=оG=о9 о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

A10 пDеп4D4тK длO леGе=8O 
E4E4D=о7о д845ет4 

  

A10A 8=Eул8=K 8 8E 4=4ло78   

A10AB 8=Eул8=K коDотко7о 
де9Eт68O 8 8E 4=4ло78 длO 
8=JекF8о==о7о 66еде=8O 

8=Eул8= 4Eп4Dт D4Eт6оD длO подко6=о7о 8 
6=утD86е==о7о 66еде=8O 

8=Eул8= 7лул878= D4Eт6оD длO подко6=о7о 66еде=8O 

8=Eул8= л87пDо D4Eт6оD длO 6=утD86е==о7о 8 
подко6=о7о 66еде=8O 

8=Eул8= 
D4Eт6оD8<K9 
(Gело6еGеEк89 
7е==о-

8=6е=еD=K9) 

D4Eт6оD длO 8=JекF89 

A10AC 8=Eул8=K EDед=е9 
пDодол68телL=оEт8 
де9Eт68O 8 8E 4=4ло78 длO 
8=JекF8о==о7о 66еде=8O 

8=Eул8=-87оD4= 
(Gело6еGеEк89 
7е==о-

8=6е=еD=K9) 

EуEпе=78O длO подко6=о7о 66еде=8O 

A10AD 8=Eул8=K EDед=е9 
пDодол68телL=оEт8 
де9Eт68O 8л8 
дл8телL=о7о де9Eт68O 8 
8E 4=4ло78 6 ко<58=4F88 
E 8=Eул8=4<8 коDотко7о 
де9Eт68O длO 
8=JекF8о==о7о 66еде=8O 

8=Eул8= 4Eп4Dт 
д6уED47=K9 

EуEпе=78O длO подко6=о7о 66еде=8O 

8=Eул8= де7лудек 
+ 8=Eул8= 4Eп4Dт 

D4Eт6оD длO подко6=о7о 66еде=8O 

8=Eул8= 
д6уED47=K9 
(Gело6еGеEк89 
7е==о-

8=6е=еD=K9) 

EуEпе=78O длO подко6=о7о 66еде=8O 

8=Eул8= л87пDо 
д6уED47=K9 

EуEпе=78O длO подко6=о7о 66еде=8O 

A10AE 8=Eул8=K дл8телL=о7о 8=Eул8= 7л4D78= D4Eт6оD длO подко6=о7о 66еде=8O 



 

де9Eт68O 8 8E 4=4ло78 длO 
8=JекF8о==о7о 66еде=8O 

8=Eул8= 7л4D78= 
+ л8кE8Eе=4т8д 

D4Eт6оD длO подко6=о7о 66еде=8O 

8=Eул8= де7лудек D4Eт6оD длO подко6=о7о 66еде=8O 

8=Eул8= дете<8D D4Eт6оD длO подко6=о7о 66еде=8O 

A10B 78по7л8ке<8GеEк8е 
пDеп4D4тK, кDо<е 
8=Eул8=о6 

  

A10BA 587у4=8дK <етDоD<8= т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

A10BB пDо876од=Kе 
EулLDо=8л<оGе68=K 

7л85е=кл4<8д т45летк8 

7л8кл478д т45летк8; 
т45летк8 E <од8D8F8Dо64==K< 
6KE6о5о6де=8е<; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е< 

A10BH 8=7858тоDK 
д8пепт8д8лпепт8д47K-4 

(���-4) 

4ло7л8пт8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

68лд47л8пт8= т45летк8 

7о7о7л8пт8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

л8=47л8пт8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

E4кE47л8пт8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

E8т47л8пт8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

M6о7л8пт8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 



 

A10BJ 4=4ло78 
7лNк47о=оподо5=о7о 
пепт8д4-1 

дул47лут8д D4Eт6оD длO подко6=о7о 66еде=8O 

л8кE8Eе=4т8д D4Eт6оD длO подко6=о7о 66еде=8O 

Eе<47лут8д D4Eт6оD длO подко6=о7о 66еде=8O 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

A10BK 8=7858тоDK 
=4тD897468E8<о7о 
пеDе=оEG8к4 7лNко7K 2 
т8п4 

д4п47л8Dло78= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

8пD47л8Dло78= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

M<п47л8Dло78= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

MDту7л8Dло78= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

A10BX дDу78е 
78по7л8ке<8GеEк8е 
пDеп4D4тK, кDо<е 
8=Eул8=о6 

Dеп47л8=8д т45летк8 

A11 68т4<8=K   

A11C 68т4<8=K A 8 D, 6клNG4O 
8E ко<58=4F88 

  

A11CA 68т4<8= A Dет8=ол дD46е; 
к4пл8 длO пD8е<4 6=утDL 8 
=4Dу6=о7о пD8<е=е=8O; 
к4пEулK; 
<47L длO =4Dу6=о7о пD8<е=е=8O; 
D4Eт6оD длO пD8е<4 6=утDL 
(<4EлO=K9); 
D4Eт6оD длO пD8е<4 6=утDL 8 
=4Dу6=о7о пD8<е=е=8O (<4EлO=K9) 

A11CC 68т4<8= D 8 е7о 4=4ло78 4лLD4к4лLF8дол к4пл8 длO пD8е<4 6=утDL; 
к4пEулK 

к4лLF8тD8ол к4пEулK 

колек4лLF8DеDо
л 

к4пл8 длO пD8е<4 6=утDL; 
D4Eт6оD длO пD8е<4 6=утDL 
(<4EлO=K9) 

A11D 68т4<8= B1 8 е7о 
ко<58=4F88 E 
68т4<8=4<8 B6 8 B12 

  

A11DA 68т4<8= B1 т84<8= D4Eт6оD длO 6=утD8<KHеG=о7о 
66еде=8O 



 

A11G 4EкоD58=о64O к8Eлот4 
(68т4<8= C), 6клNG4O 
ко<58=4F88 E дDу78<8 
EDедEт64<8 

  

A11GA 4EкоD58=о64O к8Eлот4 
(68т4<8= C) 

4EкоD58=о64O 
к8Eлот4 

дD46е; 
к4пл8 длO пD8е<4 6=утDL; 
к4пEулK пDоло=78Dо64==о7о 
де9Eт68O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO пD8е<4 6=утDL; 
поDоHок длO пD8е<4 6=утDL; 
D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
т45летк8 

A11H дDу78е 68т4<8==Kе 
пDеп4D4тK 

  

A11HA дDу78е 68т4<8==Kе 
пDеп4D4тK 

п8D8докE8= D4Eт6оD длO 8=JекF89 

A12 <8=еD4лL=Kе до546к8   

A12A пDеп4D4тK к4лLF8O   

A12AA пDеп4D4тK к4лLF8O к4лLF8O 7лNко=4т D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO 8=JекF89; 
т45летк8 

A12C дDу78е <8=еD4лL=Kе 
до546к8 

  

A12CX дDу78е <8=еD4лL=Kе 
6еIеEт64 

к4л8O 8 <47=8O 
4Eп4D478=4т 

ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
D4Eт6оD длO 8=Dу789; 
т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

A14 4=45ол8GеEк8е EDедEт64 
E8Eте<=о7о де9Eт68O 

  

A14A 4=45ол8GеEк8е EтеDо8дK   

A14AB пDо876од=Kе MEтDе=4 =4=дDоло= D4Eт6оD длO 6=утD8<KHеG=о7о 
66еде=8O (<4EлO=K9) 

A16 дDу78е пDеп4D4тK длO 
леGе=8O 745оле64=89 
6елудоG=о-к8HеG=о7о 
тD4кт4 8 =4DуHе=89 
о5<е=4 6еIеEт6 

  



 

A16A дDу78е пDеп4D4тK длO 
леGе=8O 745оле64=89 
6елудоG=о-к8HеG=о7о 
тD4кт4 8 =4DуHе=89 
о5<е=4 6еIеEт6 

  

A16AA 4<8=ок8EлотK 8 8E 
пDо876од=Kе 

4де<ет8о=8= л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
т45летк8 к8HеG=оD4Eт6оD8<Kе; 
т45летк8 к8HеG=оD4Eт6оD8<Kе, 
покDKтKе пле=оG=о9 о5олоGко9; 
т45летк8, покDKтKе 
к8HеG=оD4Eт6оD8<о9 о5олоGко9 

A16AB DеD<е=т=Kе пDеп4D4тK 474лE8д474 4лLD4 ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

474лE8д474 5ет4 л8оD8л874т длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

6ел47лNFеD474 
4лLD4 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

74лEулLD474 ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

8дуDEулLD474 ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

8дуDEулLD474 
5ет4 

ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

8<87лNFеD474 л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

л4Dо=8д474 ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

  Eе5ел8п474 
4лLD4 

ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

  т4л87лNFеD474 
4лLD4 

л8оD8л874т длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

A16AX пDоG8е пDеп4D4тK длO 
леGе=8O 745оле64=89 
6елудоG=о-к8HеG=о7о 
тD4кт4 8 =4DуHе=89 
о5<е=4 6еIеEт6 

<87луEт4т к4пEулK 

=8т878=о= к4пEулK 

E4пDоптеD8= т45летк8 D4Eт6оD8<Kе 

т8окто64O 
к8Eлот4 

к4пEулK; 
ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 



 

ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
D4Eт6оD длO 8=Dу789; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

B кDо6L 8 E8Eте<4 
кDо6ет6оDе=8O 

  

B01 4=т8тDо<5от8GеEк8е 
EDедEт64 

  

B01A 4=т8тDо<5от8GеEк8е 
EDедEт64 

  

B01AA 4=т47о=8EтK 68т4<8=4 K 64DD4D8= т45летк8 

B01AB 7Dупп4 7еп4D8=4 7еп4D8= =4тD8O D4Eт6оD длO 6=утD86е==о7о 8 
подко6=о7о 66еде=8O; 
D4Eт6оD длO 8=JекF89 

M=окE4п4D8= 
=4тD8O 

D4Eт6оD длO 8=JекF89 

п4D=4п4D8= 
=4тD8O 

D4Eт6оD длO подко6=о7о 66еде=8O 

B01AC 4=т847Dе74=тK, кDо<е 
7еп4D8=4 

клоп8до7Dел т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

EелекE8п47 т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

т8к47DелоD т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

B01AD DеD<е=т=Kе пDеп4D4тK 4лтепл474 л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

пDоуDок8=474 л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89 

Dеко<58=4=т=K9 
5елок, 
EодеD64I89 
4<8=ок8Eлот=уN 
поEледо64телL=о

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 



 

EтL 
Eт4D8лок8=47K 

те=ектепл474 л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

B01AE пDO<Kе 8=7858тоDK 
тDо<58=4 

д45874тD4=4 
MтекE8л4т 

к4пEулK 

B01AF пDO<Kе 8=7858тоDK 
D4ктоD4 Xa 

4п8кE454= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

 D864DокE454= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

B02 7е<оEт4т8GеEк8е EDедEт64   

B02A 4=т8D85D8=ол8т8GеEк8е 
EDедEт64 

  

B02AA 4<8=ок8EлотK 4<8=ок4пDо=о64
O к8Eлот4 

D4Eт6оD длO 8=Dу789 

тD4=екE4<о64O 
к8Eлот4 

D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

B02AB 8=7858тоDK пDоте8=47 
пл47<K 

4пDот8=8= л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
D4Eт6оD длO 8=Dу789 

B02B 68т4<8= K 8 дDу78е 
7е<оEт4т8к8 

  

B02BA 68т4<8= K <е=4д8о=4 
=4тD8O 58EулLD8т 

D4Eт6оD длO 6=утD8<KHеG=о7о 
66еде=8O 

B02BC <еEт=Kе 7е<оEт4т8к8 D85D8=о7е= + 
тDо<58= 

7у5к4 

B02BD D4ктоDK E6еDтK64=8O 
кDо68 

4=т88=7858тоD=K
9 ко47улO=т=K9 
ко<плекE 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

<оDоктоко7 
4лLD4 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

  =о=4ко7 4лLD4 л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 



 

  октоко7 4лLD4 л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

  E8<октоко7 4лLD4 
(D4ктоD 
E6еDтK64=8O 
кDо68 VIII 
Gело6еGеEк89 
Dеко<58=4=т=K9
) 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

  D4ктоD 
E6еDтK64=8O 
кDо68 VII 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

  D4ктоD 
E6еDтK64=8O 
кDо68 VIII 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
D4Eт6оD длO 8=Dу789 
(74<оDо6е==K9) 

  D4ктоD 
E6еDтK64=8O 
кDо68 IX 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

  D4ктоDK 
E6еDтK64=8O 
кDо68 II, VII, IX, X 
6 ко<58=4F88 
(пDотDо<58=о6K
9 ко<плекE) 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

  D4ктоDK 
E6еDтK64=8O 
кDо68 II, IX 8 X 6 
ко<58=4F88 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

  D4ктоD 
E6еDтK64=8O 
кDо68 VIII + 
D4ктоD 
�8лле5D4=д4 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

  Mпт4ко7 4лLD4 
(4кт868Dо64==K9
) 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

  MD<оDоктоко7 
4лLD4 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 



 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

B02BX дDу78е E8Eте<=Kе 
7е<оEт4т8к8 

Dо<8плоEт8< поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO подко6=о7о 66еде=8O 

MлтDо<5оп47 т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

M<8F87у<45 D4Eт6оD длO подко6=о7о 66еде=8O 

Mт4<78л4т D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO 8=JекF89; 
D4Eт6оD длO 8=JекF89 8 =4Dу6=о7о 
пD8<е=е=8O; 
т45летк8 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

B03 4=т84=е<8GеEк8е 
пDеп4D4тK 

  

B03A пDеп4D4тK 6еле74   

B03AB пеDоD4лL=Kе пDеп4D4тK 
тDеE64ле=т=о7о 6еле74 

6еле74 (III) 
78дDокE8д 
пол8<4лLто74т 

к4пл8 длO пD8е<4 6=утDL; 
E8Dоп; 
т45летк8 6е64телL=Kе 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

B03AC п4Dе=теD4лL=Kе 
пDеп4D4тK 
тDеE64ле=т=о7о 6еле74 

6еле74 (III) 
78дDокE8д 
ол87о87о<4лLто7
4т 

D4Eт6оD длO 6=утD86е==о7о 
66еде=8O 

6еле74 (III) 
78дDокE8д4 
E4E4Dо7=K9 
ко<плекE 

D4Eт6оD длO 6=утD86е==о7о 
66еде=8O 

6еле74 
к4D5окE8<4лLто7
4т 

D4Eт6оD длO 6=утD86е==о7о 
66еде=8O 

B03B 68т4<8= B12 8 Dол8е64O 
к8Eлот4 

  

B03BA 68т4<8= B12 

(F84=око54л4<8= 8 е7о 
4=4ло78) 

F84=око54л4<8= D4Eт6оD длO 8=JекF89 

B03BB Dол8е64O к8Eлот4 8 ее 
пDо876од=Kе 

Dол8е64O 
к8Eлот4 

т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

B03X дDу78е 4=т84=е<8GеEк8е 
пDеп4D4тK 

  



 

B03XA дDу78е 4=т84=е<8GеEк8е 
пDеп4D4тK 

д4D5MпоMт8= 
4лLD4 

D4Eт6оD длO 8=JекF89 

  <етокE8пол8Mт8л
е=7л8колL-

MпоMт8= 5ет4 

D4Eт6оD длO 6=утD86е==о7о 8 
подко6=о7о 66еде=8O 

  MпоMт8= 4лLD4 D4Eт6оD длO 6=утD86е==о7о 8 
подко6=о7о 66еде=8O 

  MпоMт8= 5ет4 л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
подко6=о7о 66еде=8O; 
D4Eт6оD длO 6=утD86е==о7о 8 
подко6=о7о 66еде=8O 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

B05 кDо6е74<е=8тел8 8 
пеDDу78о==Kе D4Eт6оDK 

  

B05A кDо6L 8 пDеп4D4тK кDо68   

B05AA кDо6е74<е=8тел8 8 
пDеп4D4тK пл47<K кDо68 

4лL5у<8= 
Gело6ек4 

D4Eт6оD длO 8=Dу789 

78дDокE8Mт8лкD4
E<4л 

D4Eт6оD длO 8=Dу789 

декEтD4= D4Eт6оD длO 8=Dу789 

6ел4т8= D4Eт6оD длO 8=Dу789 

B05B D4Eт6оDK длO 
6=утD86е==о7о 66еде=8O 

  

B05BA D4Eт6оDK длO 
п4Dе=теD4лL=о7о п8т4=8O 

68Dо6Kе 
M<улLE88 длO 
п4Dе=теD4лL=о7о 
п8т4=8O 

M<улLE8O длO 8=Dу789 

B05BB D4Eт6оDK, 6л8ONI8е =4 
6од=о-MлектDол8т=K9 
54л4=E 

декEтDо74 + 
к4л8O EлоD8д + 
=4тD8O EлоD8д + 
=4тD8O F8тD4т 

поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO пD8е<4 6=утDL 

к4л8O 4Fет4т + 
к4лLF8O 4Fет4т + 
<47=8O 4Fет4т + 
=4тD8O 4Fет4т + 
=4тD8O EлоD8д 

D4Eт6оD длO 8=Dу789 

к4л8O EлоD8д + 
=4тD8O 4Fет4т + 
=4тD8O EлоD8д 

D4Eт6оD длO 8=Dу789 

<е7лN<8=4 D4Eт6оD длO 8=Dу789 



 

=4тD8O EукF8=4т 

  =4тD8O л4кт4т4 
D4Eт6оD Eло6=K9 

(к4л8O EлоD8д + 
к4лLF8O EлоD8д + 
=4тD8O EлоD8д + 
=4тD8O л4кт4т) 

D4Eт6оD длO 8=Dу789 

  =4тD8O EлоD8д4 
D4Eт6оD Eло6=K9 

(к4л8O EлоD8д + 
к4лLF8O EлоD8д + 
=4тD8O EлоD8д) 

D4Eт6оD длO 8=Dу789 

  =4тD8O EлоD8д + 
к4л8O EлоD8д + 
к4лLF8O EлоD8д4 
д878дD4т + 
<47=8O EлоD8д4 
7екE478дD4т + 
=4тD8O 4Fет4т4 
тD878дD4т + 
O5лоG=4O к8Eлот4 

D4Eт6оD длO 8=Dу789 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

B05BC D4Eт6оDK E 
оE<од8уDет8GеEк8< 
де9Eт68е< 

<4==8тол поDоHок длO 8=74лOF89 
до78Dо64==K9; 
D4Eт6оD длO 8=Dу789 

B05C 8DD874F8о==Kе D4Eт6оDK   

B05CX дDу78е 8DD874F8о==Kе 
D4Eт6оDK 

декEтDо74 D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
D4Eт6оD длO 8=Dу789 

B05D D4Eт6оDK длO 
пеD8то=е4лL=о7о д84л874 

D4Eт6оDK длO 
пеD8то=е4лL=о7о 
д84л874 

 

B05X до546к8 к D4Eт6оD4< длO 
6=утD86е==о7о 66еде=8O 

  

B05XA D4Eт6оDK MлектDол8то6 к4л8O EлоD8д ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O 

<47=8O EулLD4т D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 

=4тD8O 
78дDок4D5о=4т 

D4Eт6оD длO 8=Dу789 

=4тD8O EлоD8д D4Eт6оD длO 8=Dу789; 



 

D4Eт6оD длO 8=JекF89; 
D4Eт6оD8телL длO пD87ото6ле=8O 
лек4DEт6е==KE DоD< длO 8=JекF89 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

C EеDдеG=о-EоEуд8Eт4O 
E8Eте<4 

  

C01 пDеп4D4тK длO леGе=8O 
745оле64=89 EеDдF4 

  

C01A EеDдеG=Kе 7л8ко78дK   

C01AA 7л8ко78дK =4пеDEтO=к8 д87окE8= D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
т45летк8; 
т45летк8 (длO дете9) 

C01B 4=т84D8т<8GеEк8е 
пDеп4D4тK, кл4EEK I 8 III 

  

C01BA 4=т84D8т<8GеEк8е 
пDеп4D4тK, кл4EE IA 

пDок48=4<8д D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO 8=JекF89; 
т45летк8 

C01BB 4=т84D8т<8GеEк8е 
пDеп4D4тK, кл4EE IB 

л8док48= 7елL длO <еEт=о7о пD8<е=е=8O; 
к4пл8 7л47=Kе; 
D4Eт6оD длO 8=JекF89; 
EпDе9 длO <еEт=о7о 8 =4Dу6=о7о 
пD8<е=е=8O; 
EпDе9 длO <еEт=о7о 8 =4Dу6=о7о 
пD8<е=е=8O до78Dо64==K9; 
EпDе9 длO <еEт=о7о пD8<е=е=8O 
до78Dо64==K9 

C01BC 4=т84D8т<8GеEк8е 
пDеп4D4тK, кл4EE IC 

пDоп4Dе=о= D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

C01BD 4=т84D8т<8GеEк8е 
пDеп4D4тK, кл4EE III 

4<8од4Dо= ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
т45летк8 

  4-�8тDо-N-[(1RS)-

1-(4-DтоDDе=8л)-
2-(1-

Mт8лп8пеD8д8=-

4-

8л)Mт8л]5е=74<8
д4 78дDоEлоD8д 

ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 



 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

C01BG дDу78е 4=т84D8т<8GеEк8е 
пDеп4D4тK, кл4EEK I 8 III 

л4пп4ко=8т8=4 
78дDо5Dо<8д 

т45летк8 

C01C к4Dд8ото=8GеEк8е 
EDедEт64, кDо<е 
EеDдеG=KE 7л8ко78до6 

  

C01CA 4дDе=еD78GеEк8е 8 
доD4<8=еD78GеEк8е 
EDедEт64 

до5ут4<8= ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
D4Eт6оD длO 8=Dу789 

  доп4<8= ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
D4Eт6оD длO 8=JекF89 

  =оDMп8=еDD8= ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

  Dе=8лMDD8= D4Eт6оD длO 8=JекF89 

  Mп8=еDD8= D4Eт6оD длO 8=JекF89 

C01CX дDу78е к4Dд8ото=8GеEк8е 
EDедEт64 

ле6оE8<е=д4= ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

C01D 647од8л4т4тоDK длO 
леGе=8O 745оле64=89 
EеDдF4 

  

C01DA оD74=8GеEк8е =8тD4тK 87оEоD58д4 
д8=8тD4т 

ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
EпDе9 до78Dо64==K9; 
EпDе9 подJO7KG=K9 до78Dо64==K9; 
т45летк8; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O 

  87оEоD58д4 
<о=о=8тD4т 

к4пEулK; 
к4пEулK пDоло=78Dо64==о7о 
де9Eт68O; 
к4пEулK E пDоло=78Dо64==K< 
6KE6о5о6де=8е<; 
т45летк8; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 



 

  =8тDо7л8FеD8= к4пEулK подJO7KG=Kе; 
ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
пле=к8 длO =4кле864=8O =4 деE=у; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
EпDе9 подJO7KG=K9 до78Dо64==K9; 
т45летк8 подJO7KG=Kе; 
т45летк8 Eу5л8=764лL=Kе 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

C01E дDу78е пDеп4D4тK длO 
леGе=8O 745оле64=89 
EеDдF4 

  

C01EA пDоEт47л4=д8=K 4лпDоEт4д8л ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

C01EB дDу78е пDеп4D4тK длO 
леGе=8O 745оле64=89 
EеDдF4 

8645D4д8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.12.2022 N 4173-D) 

C02 4=т878пеDте=786=Kе 
EDедEт64 

  

C02A 4=т84дDе=еD78GеEк8е 
EDедEт64 Fе=тD4лL=о7о 
де9Eт68O 

  

C02AB <ет8лдоп4 <ет8лдоп4 т45летк8 

C02AC 47о=8EтK 
8<8д47ол8=о6KE 
DеFептоDо6 

кло=8д8= D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
т45летк8 

  <окEо=8д8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

C02C 4=т84дDе=еD78GеEк8е 
EDедEт64 
пеD8DеD8GеEко7о 
де9Eт68O 

  

C02CA 4лLD4-4дDе=о5лок4тоDK докE47о78= т45летк8; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

  уD4п8д8л к4пEулK пDоло=78Dо64==о7о 
де9Eт68O; 
D4Eт6оD длO 6=утD86е==о7о 



 

66еде=8O 

C02K дDу78е 
4=т878пеDте=786=Kе 
EDедEт64 

  

C02KX 4=т878пеDте=786=Kе 
EDедEт64 длO леGе=8O 
ле7оG=о9 4DтеD84лL=о9 
78пеDте=788 

4<5D87е=т4= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  5о7е=т4= т45летк8 д8EпеD78Dуе<Kе; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  <4F8те=т4= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  D8оF87у4т т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

C03 д8уDет8к8   

C03A т8478д=Kе д8уDет8к8   

C03AA т8478дK 78дDоEлоDот8478
д 

т45летк8 

C03B т8478доподо5=Kе 
д8уDет8к8 

  

C03BA EулLDо=4<8дK 8=д4п4<8д к4пEулK; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E ко=тDол8Dуе<K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9; 
т45летк8 E <од8D8F8Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

C03C "петле6Kе" д8уDет8к8   

C03CA EулLDо=4<8дK DуDоEе<8д D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO 8=JекF89; 
т45летк8 



 

C03D к4л89E5еDе74NI8е 
д8уDет8к8 

  

C03DA 4=т47о=8EтK 
4лLдоEтеDо=4 

Eп8Dо=ол4кто= к4пEулK; 
т45летк8 

C04 пеD8DеD8GеEк8е 
647од8л4т4тоDK 

  

C04A пеD8DеD8GеEк8е 
647од8л4т4тоDK 

  

C04AD пDо876од=Kе пуD8=4 пе=токE8D8лл8= ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD84DтеD84лL=о7о 66еде=8O; 
ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
D4Eт6оD длO 6=утD86е==о7о 8 
6=утD84DтеD84лL=о7о 66еде=8O; 
D4Eт6оD длO 8=Dу789; 
D4Eт6оD длO 8=JекF89 

C07 5ет4-4дDе=о5лок4тоDK   

C07A 5ет4-4дDе=о5лок4тоDK   

C07AA =еEелект86=Kе 5ет4-

4дDе=о5лок4тоDK 

пDопD4=олол т45летк8 

 Eот4лол т45летк8 

C07AB Eелект86=Kе 5ет4-

4дDе=о5лок4тоDK 

4те=олол т45летк8; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  58EопDолол т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  <етопDолол D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
т45летк8; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 



 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

C07AG 4лLD4- 8 5ет4-

4дDе=о5лок4тоDK 

к4D6ед8лол т45летк8 

C08 5лок4тоDK к4лLF8е6KE 
к4=4ло6 

  

C08C Eелект86=Kе 5лок4тоDK 
к4лLF8е6KE к4=4ло6 E 
пDе8<уIеEт6е==K< 
де9Eт68е< =4 EоEудK 

  

C08CA пDо876од=Kе 
д878дDоп8D8д8=4 

4<лод8п8= т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

=8<од8п8= D4Eт6оD длO 8=Dу789; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

=8Dед8п8= т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E <од8D8F8Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

C08D Eелект86=Kе 5лок4тоDK 
к4лLF8е6KE к4=4ло6 E 
пDO<K< де9Eт68е< =4 
EеDдFе 

  

C08DA пDо876од=Kе 
Dе=8л4лк8л4<8=4 

6еD4п4<8л D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

C09 EDедEт64, де9Eт6уNI8е 

=4 Dе=8=-

4=78оте=78=о6уN E8Eте<у 

  



 

C09A 8=7858тоDK ��$   

C09AA 8=7858тоDK ��$ к4птопD8л т45летк8; 
т45летк8, покDKтKе о5олоGко9 

л878=опD8л т45летк8 

пеD8=допD8л т45летк8; 
т45летк8, д8EпеD78Dуе<Kе 6 полоEт8 
Dт4; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

D4<8пD8л к4пEулK; 
т45летк8 

M=4л4пD8л т45летк8 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.12.2022 N 4173-D) 

C09C 4=т47о=8EтK DеFептоDо6 
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H04 7оD<о=K под6елудоG=о9 
6еле7K 

  

H04A 7оD<о=K, D4EIеплONI8е 
7л8ко7е= 

  

H04AA 7оD<о=K, D4EIеплONI8е 
7л8ко7е= 

7лNк47о= л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89 

H05 пDеп4D4тK, 
Dе7ул8DуNI8е о5<е= 
к4лLF8O 

  

H05A п4D4т8Dео8д=Kе 
7оD<о=K 8 8E 4=4ло78 

  

H05AA п4D4т8Dео8д=Kе 
7оD<о=K 8 8E 4=4ло78 

теD8п4D4т8д D4Eт6оD длO подко6=о7о 66еде=8O 

H05B 4=т8п4D4т8Dео8д=Kе 
EDедEт64 

  

H05BA пDеп4D4тK к4лLF8то=8=4 к4лLF8то=8= D4Eт6оD длO 8=JекF89 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

H05BX пDоG8е 
4=т8п4D4т8Dео8д=Kе 
пDеп4D4тK 

п4D8к4лLF8тол к4пEулK; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O 

 F8=4к4лLFет т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

 Mтелк4лLFет8д D4Eт6оD длO 6=утD86е==о7о 
66еде=8O 

J пDот86о<8кDо5=Kе 
пDеп4D4тK E8Eте<=о7о 
де9Eт68O 

  

J01 4=т854ктеD84лL=Kе 
пDеп4D4тK E8Eте<=о7о 
де9Eт68O 

  

J01A тетD4F8кл8=K   



 

J01AA тетD4F8кл8=K докE8F8кл8= к4пEулK; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
т45летк8 д8EпеD78Dуе<Kе 

  т87еF8кл8= л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J01B 4<Dе=8колK   

J01BA 4<Dе=8колK EлоD4<Dе=8кол т45летк8; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

J01C 5ет4-л4кт4<=Kе 
4=т854ктеD84лL=Kе 
пDеп4D4тK: пе=8F8лл8=K 

  

J01CA пе=8F8лл8=K H8Dоко7о 
EпектD4 де9Eт68O 

4<окE8F8лл8= 7D4=улK длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
к4пEулK; 
поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
т45летк8; 
т45летк8 д8EпеD78Dуе<Kе; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  4<п8F8лл8= поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O; 
т45летк8 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J01CE пе=8F8лл8=K, 
Gу6Eт68телL=Kе к 5ет4-

л4кт4<474< 

5е=74т8=4 
5е=78лпе=8F8лл
8= 

поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO 6=утD8<KHеG=о7о 
66еде=8O; 

  5е=78лпе=8F8лл
8= 

поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 



 

D4Eт6оD4 длO 6=утD8<KHеG=о7о 8 
подко6=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89 8 <еEт=о7о 
пD8<е=е=8O; 
поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO 6=утD8<KHеG=о7о 
66еде=8O 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J01CF пе=8F8лл8=K, 
уEто9G86Kе к 5ет4-

л4кт4<474< 

окE4F8лл8= поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J01CR ко<58=4F88 
пе=8F8лл8=о6, 6клNG4O 
ко<58=4F88 E 
8=7858тоD4<8 5ет4-

л4кт4<47 

4<окE8F8лл8= + 
кл46ул4=о64O 
к8Eлот4 

поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
т45летк8 д8EпеD78Dуе<Kе; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  4<п8F8лл8= + 
EулL54кт4< 

поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

J01D дDу78е 5ет4-л4кт4<=Kе 
4=т854ктеD84лL=Kе 
пDеп4D4тK 

  

J01DB FеD4лоEпоD8=K 1-7о 
поколе=8O 

FеD47ол8= поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89 

  FеD4лекE8= 7D4=улK длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
к4пEулK; 
т45летк8, покDKтKе пле=оG=о9 



 

о5олоGко9 

J01DC FеD4лоEпоD8=K 2-7о 
поколе=8O 

FеDуDокE8< 7D4=улK длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

J01DD FеD4лоEпоD8=K 3-7о 
поколе=8O 

FеDот4кE8< поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89 

  FеDот4кE8< + 
[EулL54кт4<] 

поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

  FеDт478д8< поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89 

  FеDтD84кEо= поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
поDоHок длO пD87ото6ле=8O 



 

D4Eт6оD4 длO 8=JекF89 

  FеDопеD47о= + 
EулL54кт4< 

поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.12.2022 N 4173-D) 

J01DE FеD4лоEпоD8=K 4-7о 
поколе=8O 

FеDеп8< поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O 

J01DH к4D54пе=е<K 8<8пе=е< + 
F8л4Eт4т8= 

поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

 <еDопе=е< поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

 MDт4пе=е< л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

J01DI дDу78е FеD4лоEпоD8=K 8 
пе=е<K 

FеDт478д8< + 
[46854кт4<] 

поDоHок длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

 FеDт4Dол8=4 
DоE4<8л 

поDоHок длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

 FеDтоло74= + 
[т47о54кт4<] 

поDоHок длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

J01E EулLD4=8л4<8дK 8 
тD8<етопD8< 

  

J01EE ко<58=8Dо64==Kе 
пDеп4D4тK 
EулLD4=8л4<8до6 8 
тD8<етопD8<4, 6клNG4O 
пDо876од=Kе 

ко-тD8<окE47ол ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
EуEпе=78O длO пD8е<4 6=утDL; 
т45летк8 

J01F <4кDол8дK, 
л8=ко74<8дK 8 
EтDепто7D4<8=K 

  

J01FA <4кDол8дK 478тDо<8F8= к4пEулK; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 



 

л8оD8л874т длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL (длO 
дете9); 
т45летк8 д8EпеD78Dуе<Kе; 
т45летк8, покDKтKе о5олоGко9; 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  д6о74<8F8= т45летк8 д8EпеD78Dуе<Kе; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  кл4D8тDо<8F8= 7D4=улK длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
к4пEулK; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J01FF л8=ко74<8дK кл8=д4<8F8= к4пEулK; 
D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

J01G 4<8=о7л8ко78дK   

J01GA EтDепто<8F8=K EтDепто<8F8= поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O 

J01GB дDу78е 4<8=о7л8ко78дK 4<8к4F8= л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O; 
D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 



 

D4Eт6оD длO 8=Dу789 8 
6=утD8<KHеG=о7о 66еде=8O 

  7е=т4<8F8= к4пл8 7л47=Kе; 
D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

  к4=4<8F8= поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O 

  то5D4<8F8= к4пл8 7л47=Kе; 
к4пEулK E поDоHко< длO 8=74лOF89; 
D4Eт6оD длO 8=74лOF89 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J01M 4=т854ктеD84лL=Kе 
пDеп4D4тK, пDо876од=Kе 
E8=оло=4 

  

J01MA DтоDE8=оло=K ле6оDлокE4F8= к4пл8 7л47=Kе; 
D4Eт6оD длO 8=Dу789; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
к4пEулK 

  ло<еDлокE4F8= к4пл8 7л47=Kе; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  <окE8DлокE4F8= к4пл8 7л47=Kе; 
D4Eт6оD длO 8=Dу789; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  оDлокE4F8= к4пл8 7л47=Kе; 
к4пл8 7л47=Kе 8 уH=Kе; 
<47L 7л47=4O; 
D4Eт6оD длO 8=Dу789; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, 
покDKтKе пле=оG=о9 о5олоGко9 

  Eп4DDлокE4F8= т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  F8пDоDлокE4F8= к4пл8 7л47=Kе; 
к4пл8 7л47=Kе 8 уH=Kе; 



 

к4пл8 уH=Kе; 
<47L 7л47=4O; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
D4Eт6оD длO 8=Dу789; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J01X дDу78е 
4=т854ктеD84лL=Kе 
пDеп4D4тK 

  

J01XA 4=т858от8к8 
7л8копепт8д=о9 
EтDуктуDK 

64=ко<8F8= л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 8 пD8е<4 
6=утDL; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 

поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 8 пD8е<4 
6=утDL; 
поDоHок длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 8 D4Eт6оD4 
длO пD8е<4 6=утDL 

  тел464=F8= л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.12.2022 N 4173-D) 

J01XB пол8<8кE8=K пол8<8кE8= B поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89 

(66еде=о D4EпоDO6е=8е< �D468телLEт64  $ от 23.12.2021 N 3781-D) 

J01XD пDо876од=Kе 8<8д47ол4 <етDо=8д47ол D4Eт6оD длO 8=Dу789; 
т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

J01XX пDоG8е 
4=т854ктеD84лL=Kе 
пDеп4D4тK 

д4пто<8F8= л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 



 

  л8=е7ол8д 7D4=улK длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
D4Eт6оD длO 8=Dу789; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  тед87ол8д л8оD8л874т длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

  DоEDо<8F8= поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J02 пDот86о7D85ко6Kе 
пDеп4D4тK E8Eте<=о7о 
де9Eт68O 

  

J02A пDот86о7D85ко6Kе 
пDеп4D4тK E8Eте<=о7о 
де9Eт68O 

  

J02AA 4=т858от8к8 4<DотеD8F8= B л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

  =8Eт4т8= т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

J02AC пDо876од=Kе тD847ол4 6оD8ко=47ол л8оD8л874т длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  по74ко=47ол EуEпе=78O длO пD8е<4 6=утDL 

  Dлуко=47ол к4пEулK; 
поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
D4Eт6оD длO 8=Dу789; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J02AX дDу78е пDот86о7D85ко6Kе 
пDеп4D4тK E8Eте<=о7о 
де9Eт68O 

к4EпоDу=78= л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 



 

D4Eт6оD4 длO 8=Dу789 

  <8к4Dу=78= л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J04 пDеп4D4тK, 4кт86=Kе 6 
от=оHе=88 <8ко54ктеD89 

  

J04A пDот86оту5еDкуле7=Kе 
пDеп4D4тK 

  

J04AA 4<8=оE4л8F8ло64O 
к8Eлот4 8 ее 
пDо876од=Kе 

4<8=оE4л8F8ло6
4O к8Eлот4 

7D4=улK 74<едле==о7о 
6KE6о5о6де=8O длO пD8е<4 6=утDL; 
7D4=улK к8HеG=оD4Eт6оD8<Kе; 
7D4=улK, покDKтKе 
к8HеG=оD4Eт6оD8<о9 о5олоGко9; 
7D4=улK E пDоло=78Dо64==K< 
6KE6о5о6де=8е<; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
D4Eт6оD длO 8=Dу789; 
т45летк8 к8HеG=оD4Eт6оD8<Kе, 
покDKтKе пле=оG=о9 о5олоGко9; 
т45летк8, покDKтKе 
к8HеG=оD4Eт6оD8<о9 о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J04AB 4=т858от8к8 к4пDео<8F8= поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 8 
6=утD8<KHеG=о7о 66еде=8O 

  D8D45ут8= к4пEулK 

  D8D4<п8F8= к4пEулK; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  F8клоEеD8= к4пEулK 

J04AC 78дD478дK 87о=8478д D4Eт6оD длO 6=утD86е==о7о, 
6=утD8<KHеG=о7о, 8=74лOF8о==о7о 
8 M=дотD4Eе4лL=о7о 66еде=8O; 
D4Eт6оD длO 8=JекF89; 



 

D4Eт6оD длO 8=JекF89 8 8=74лOF89; 
т45летк8 

J04AD пDо876од=Kе 
т8ок4D54<8д4 

пDот8о=4<8д т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

 Mт8о=4<8д т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

J04AK дDу78е 
пDот86оту5еDкуле7=Kе 
пDеп4D4тK 

5ед4к68л8= т45летк8 

дел4<4=8д т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  п8D478=4<8д т45летк8; 
т45летк8, покDKтKе о5олоGко9 

  теD878до= к4пEулK 

  т8оуDе8до8<8=о
<ет8лп8D8д8=8O 

пеDEлоD4т 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  Mт4<5утол т45летк8; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

J04AM ко<58=8Dо64==Kе 
пDот86оту5еDкуле7=Kе 
пDеп4D4тK 

87о=8478д + 
ло<еDлокE4F8= + 
п8D478=4<8д + 
Mт4<5утол + 
п8D8докE8= 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

87о=8478д + 
п8D478=4<8д 

т45летк8 

87о=8478д + 
п8D478=4<8д + 
D8D4<п8F8= 

т45летк8 д8EпеD78Dуе<Kе; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

87о=8478д + 
п8D478=4<8д + 
D8D4<п8F8= + 
Mт4<5утол 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

87о=8478д + 
п8D478=4<8д + 
D8D4<п8F8= + 
Mт4<5утол + 
п8D8докE8= 

т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  87о=8478д + т45летк8, покDKтKе о5олоGко9; 



 

D8D4<п8F8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

87о=8478д + 
Mт4<5утол 

т45летк8 

ло<еDлокE4F8= + 
п8D478=4<8д + 
пDот8о=4<8д + 
Mт4<5утол + 
п8D8докE8= 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

J04B пDот86олепDо7=Kе 
пDеп4D4тK 

  

J04BA пDот86олепDо7=Kе 
пDеп4D4тK 

д4пEо= т45летк8 

J05 пDот86о68DуE=Kе 
пDеп4D4тK E8Eте<=о7о 
де9Eт68O 

  

J05A пDот86о68DуE=Kе 
пDеп4D4тK пDO<о7о 
де9Eт68O 

  

J05AB =уклео78дK 8 
=уклеот8дK, кDо<е 
8=7858тоDо6 о5D4т=о9 
тD4=EкD8пт47K 

4F8кло68D кDе< длO =4Dу6=о7о пD8<е=е=8O; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
<47L 7л47=4O; 

<47L длO <еEт=о7о 8 =4Dу6=о7о 
пD8<е=е=8O; 
<47L длO =4Dу6=о7о пD8<е=е=8O; 

поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

64л74=F8кло68D т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

74=F8кло68D л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

J05AE 8=7858тоDK пDоте47 4т474=468D к4пEулK 

д4Dу=468D т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

=4Dл4пDе68D т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 



 

=8D<4тDел68D т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

=8D<4тDел68D + 
D8то=468D 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
=45оD т45леток, покDKтKE 
пле=оG=о9 о5олоGко9 

D8то=468D к4пEулK; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

E4к68=468D т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

DоE4<пDе=468D EуEпе=78O длO пD8е<4 6=утDL; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 06.10.2022 N 2927-D) 

J05AF =уклео78дK 8 
=уклеот8дK - 8=7858тоDK 
о5D4т=о9 тD4=EкD8пт47K 

454к468D D4Eт6оD длO пD8е<4 6=утDL; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

д8д4=о78= к4пEулK к8HеG=оD4Eт6оD8<Kе; 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO пD8е<4 6=утDL 

  78до6уд8= к4пEулK; 
D4Eт6оD длO 8=Dу789; 
D4Eт6оD длO пD8е<4 6=утDL; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  л4<86уд8= D4Eт6оD длO пD8е<4 6=утDL; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  Eт46уд8= к4пEулK 

  тел586уд8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  те=оDо68D т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  те=оDо68D4 
4л4Dе=4<8д 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  DоED478д т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  M<тD8F8т458= к4пEулK; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 



 

  M=тек468D т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

J05AG =е=уклео78д=Kе 
8=7858тоDK о5D4т=о9 
тD4=EкD8пт47K 

доD468D8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  =е68D4п8= EуEпе=78O длO пD8е<4 6=утDL; 
т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  MлEулLD468D8= к4пEулK 

  MтD468D8= т45летк8 

  MD468Dе=7 т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

J05AH 8=7858тоDK 
=е9D4<8=8д47K 

оEелLт4<868D к4пEулK 

J05AP пDот86о68DуE=Kе 
пDеп4D4тK длO леGе=8O 
7еп4т8т4 C 

6елп4т4E68D + 
EоDоE5у68D 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

7лек4пDе68D + 
п85Dе=т4E68D 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  д4кл4т4E68D т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  д4E45у68D; 
о<58т4E68D + 
п4D8т4пDе68D + 
D8то=468D 

т45леток =45оD 

  D85468D8= к4пEулK; 
ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL; 
т45летк8 

  EоDоE5у68D т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

J05AR ко<58=8Dо64==Kе 
пDот86о68DуE=Kе 
пDеп4D4тK длO леGе=8O 
�ИЧ-8=DекF88 

454к468D + 
л4<86уд8= 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

454к468D + 
78до6уд8= + 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 



 

л4<86уд8= 

  58кте7D468D + 
те=оDо68D 
4л4Dе=4<8д + 
M<тD8F8т458= 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  доD468D8= + 
л4<86уд8= + 
те=оDо68D 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  78до6уд8= + 
л4<86уд8= 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  ко58F8Eт4т + 
те=оDо68D4 
4л4Dе=4<8д + 
Mл68те7D468D + 
M<тD8F8т458= 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  лоп8=468D + 
D8то=468D 

D4Eт6оD длO пD8е<4 6=утDL; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  D8лп868D8= + 
те=оDо68D + 
M<тD8F8т458= 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  те=оDо68D + 
MлEулLD468D8= + 
M<тD8F8т458= 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.12.2022 N 4173-D) 

J05AX пDоG8е пDот86о68DуE=Kе 
пDеп4D4тK 

5уле68Dт8д л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO подко6=о7о 66еде=8O 

  7D47опDе68D + 
Mл54E68D 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  долуте7D468D т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  8<8д47ол8лMт4=4
<8д 
пе=т4=д8о6о9 
к8EлотK 

к4пEулK 

  к47оFел т45летк8 

  <4D468Dок т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  <ол=уп8D468D к4пEулK 

  D4лте7D468D т45летк8 6е64телL=Kе; 
т45летк8, покDKтKе пле=оG=о9 



 

о5олоGко9 

  Dе<деE868D л8оD8л874т длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

  у<8Dе=о68D к4пEулK; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 

  D468п8D468D т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
поDоHок длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

J06 8<<у==Kе EK6оDотк8 8 
8<<у=о7ло5ул8=K 

  

J06A 8<<у==Kе EK6оDотк8   

J06AA 8<<у==Kе EK6оDотк8 4=т8токE8= Oд4 
74дNк8 
о5Kк=о6е==о9 

 

  EK6оDотк4 
пDот86о5отул8=8
GеEк4O 

 

  EK6оDотк4 
пDот86о74=7Dе=о
7=4O 
пол864ле=т=4O 
оG8Iе==4O 
ко=Fе=тD8Dо64==
4O лоH4д8=4O 
68дк4O 

 

  4=т8токE8= 
д8DтеD89=K9 

 

  4=т8токE8= 
Eтол5=OG=K9 

 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.12.2022 N 4173-D) 

J06B 8<<у=о7ло5ул8=K   

J06BA 8<<у=о7ло5ул8=K, 8<<у=о7ло5ул8=  
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(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 
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(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

L01X дDу78е 
пDот86оопуEоле6Kе 
пDеп4D4тK 

  

L01XA пDеп4D4тK пл4т8=K к4D5опл4т8= ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

  окE4л8пл4т8= ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789 

  F8Eпл4т8= ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
D4Eт6оD длO 8=JекF89 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 
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(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 
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(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

M01AE пDо876од=Kе 
пDоп8о=о6о9 к8EлотK 

декEкетопDоDе= D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

  85упDоDе= 7елL длO =4Dу6=о7о пD8<е=е=8O; 
7D4=улK длO пD87ото6ле=8O 
D4Eт6оD4 длO пD8е<4 6=утDL; 
к4пEулK; 
кDе< длO =4Dу6=о7о пD8<е=е=8O; 
<47L длO =4Dу6=о7о пD8<е=е=8O; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
Eуппо78тоD88 Dект4лL=Kе; 
Eуппо78тоD88 Dект4лL=Kе (длO 
дете9); 
EуEпе=78O длO пD8е<4 6=утDL; 
EуEпе=78O длO пD8е<4 6=утDL (длO 
дете9); 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

  кетопDоDе= к4пEулK; 
к4пEулK пDоло=78Dо64==о7о 
де9Eт68O; 
к4пEулK E <од8D8F8Dо64==K< 
6KE6о5о6де=8е<; 
D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO 8=Dу789 8 
6=утD8<KHеG=о7о 66еде=8O; 
Eуппо78тоD88 Dект4лL=Kе; 
т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 



 

де9Eт68O; 
т45летк8 E <од8D8F8Dо64==K< 
6KE6о5о6де=8е< 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

M01C 5478E=Kе 
пDот86оDе6<4т8GеEк8е 
пDеп4D4тK 

  

M01CC пе=8F8лл4<8= 8 
подо5=Kе пDеп4D4тK 

пе=8F8лл4<8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

M03 <8оDел4кE4=тK   

M03A <8оDел4кE4=тK 
пеD8DеD8GеEко7о 
де9Eт68O 

  

M03AB пDо876од=Kе Eол8=4 EукE4<ето=8O 
9од8д 8 EлоD8д 

D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

M03AC дDу78е Gет6еDт8G=Kе 
4<<о=8е6Kе Eоед8=е=8O 

п8пекуDо=8O 
5Dо<8д 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

  DокуDо=8O 
5Dо<8д 

D4Eт6оD длO 6=утD86е==о7о 
66еде=8O 

M03AX дDу78е <8оDел4кE4=тK 
пеD8DеD8GеEко7о 
де9Eт68O 

5отул8=8GеEк89 
токE8= т8п4 A 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89 

  5отул8=8GеEк89 
токE8= т8п4 A-

7е<477лNт8=8= 
ко<плекE 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=JекF89; 
D4Eт6оD длO 6=утD8<KHеG=о7о 
66еде=8O 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

M03B <8оDел4кE4=тK 
Fе=тD4лL=о7о де9Eт68O 

  

M03BX дDу78е <8оDел4кE4=тK 
Fе=тD4лL=о7о де9Eт68O 

54клоDе= D4Eт6оD длO 8=тD4тек4лL=о7о 
66еде=8O; 
т45летк8 

  т874=8д8= к4пEулK E <од8D8F8Dо64==K< 
6KE6о5о6де=8е<; 
т45летк8 

M04 пDот86опод47D8GеEк8е   



 

пDеп4D4тK 

M04A пDот86опод47D8GеEк8е 
пDеп4D4тK 

  

M04AA 8=7858тоDK о5D47о64=8O 
<оGе6о9 к8EлотK 

4ллопуD8=ол т45летк8 

M05 пDеп4D4тK длO леGе=8O 
745оле64=89 коEте9 

  

M05B пDеп4D4тK, 6л8ONI8е =4 
EтDуктуDу 8 
<8=еD4л874F8N коEте9 

  

M05BA 58DоEDо=4тK 4ле=дDо=о64O 
к8Eлот4 

т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  7оледDо=о64O 
к8Eлот4 

ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O; 
л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
л8оD8л874т длO пD87ото6ле=8O 
ко=Fе=тD4т4 длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
D4Eт6оD длO 8=Dу789 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

M05BX дDу78е пDеп4D4тK, 
6л8ONI8е =4 EтDуктуDу 8 
<8=еD4л874F8N коEте9 

де=оEу<45 D4Eт6оD длO подко6=о7о 66еде=8O 

  EтDо=F8O D4=ел4т поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL 

M09AX пDоG8е пDеп4D4тK длO 
леGе=8O 745оле64=89 
коEт=о-<KHеG=о9 
E8Eте<K 

=уE8=еDEе= D4Eт6оD длO 8=тD4тек4лL=о7о 
66еде=8O 

  D8Eд8пл4< поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO пD8е<4 6=утDL 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

N =еD6=4O E8Eте<4   

N01 4=еEтет8к8   

N01A пDеп4D4тK длO о5Iе9 
4=еEте788 

  



 

N01AB 74ло7е=8Dо64==Kе 
у7ле6одоDодK 

74лот4= 68дкоEтL длO 8=74лOF89 

деEDлуD4= 68дкоEтL длO 8=74лOF89 

Eе6оDлуD4= 68дкоEтL длO 8=74лOF89 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

N01AF 54D58туD4тK т8опе=т4л =4тD8O поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD86е==о7о 
66еде=8O 

N01AH оп8о8д=Kе 4=4лL7ет8к8 тD8<епеD8д8= D4Eт6оD длO 8=JекF89; 
т45летк8 

N01AX дDу78е пDеп4D4тK длO 
о5Iе9 4=еEте788 

д8=8тDо7е=4 
окE8д 

747 E64тK9 

кет4<8= D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

=4тD8O 
окE85ут8D4т 

D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

пDопоDол M<улLE8O длO 6=утD86е==о7о 
66еде=8O; 
M<улLE8O длO 8=Dу789 

N01B <еEт=Kе 4=еEтет8к8   

N01BA MD8DK 4<8=о5е=7о9=о9 
к8EлотK 

пDок48= D4Eт6оD длO 8=JекF89 

N01BB 4<8дK 5уп864к48= D4Eт6оD длO 8=тD4тек4лL=о7о 
66еде=8O; 
D4Eт6оD длO 8=JекF89 

  ле6о5уп864к48= D4Eт6оD длO 8=JекF89 

  Dоп864к48= D4Eт6оD длO 8=JекF89 

N02 4=4лL7ет8к8   

N02A оп8о8дK   

N02AA пD8Dод=Kе 4лк4ло8дK 
оп8O 

<оDD8= к4пEулK пDоло=78Dо64==о7о 
де9Eт68O; 
D4Eт6оD длO 8=JекF89; 
D4Eт6оD длO подко6=о7о 66еде=8O; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 



 

D4Eт6оD длO пD8е<4 6=утDL 

  =4локEо= + 
окE8кодо= 

т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.12.2022 N 4173-D) 

N02AB пDо876од=Kе 
Dе=8лп8пеD8д8=4 

Dе=т4=8л D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
тD4=EдеD<4лL=4O теD4пе6т8GеEк4O 
E8Eте<4; 
пл4EтKDL тD4=EдеD<4лL=K9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N02AE пDо876од=Kе оD8п468=4 5упDе=оDD8= D4Eт6оD длO 8=JекF89 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

N02AX дDу78е оп8о8дK пDоп8о=8лDе=8л
MтокE8Mт8лп8пеD
8д8= 

т45летк8 74IеG=Kе 

  т4пе=т4дол т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9 

  тD4<4дол к4пEулK; 
D4Eт6оD длO 8=JекF89; 
Eуппо78тоD88 Dект4лL=Kе; 
т45летк8; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

N02B дDу78е 4=4лL7ет8к8 8 
4=т8п8Dет8к8 

  

N02BA E4л8F8ло64O к8Eлот4 8 ее 
пDо876од=Kе 

4Fет8лE4л8F8ло6
4O к8Eлот4 

т45летк8; 
т45летк8 к8HеG=оD4Eт6оD8<Kе, 
покDKтKе о5олоGко9; 
т45летк8 к8HеG=оD4Eт6оD8<Kе, 
покDKтKе пле=оG=о9 о5олоGко9; 
т45летк8, покDKтKе 
к8HеG=оD4Eт6оD8<о9 о5олоGко9; 
т45летк8, покDKтKе 
к8HеG=оD4Eт6оD8<о9 пле=оG=о9 
о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 



 

N02BE 4=8л8дK п4D4Fет4<ол D4Eт6оD длO 8=Dу789; 
D4Eт6оD длO пD8е<4 6=утDL; 
D4Eт6оD длO пD8е<4 6=утDL (длO 
дете9); 
Eуппо78тоD88 Dект4лL=Kе; 
Eуппо78тоD88 Dект4лL=Kе (длO 
дете9); 
EуEпе=78O длO пD8е<4 6=утDL; 
EуEпе=78O длO пD8е<4 6=утDL (длO 
дете9); 
т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N03 пDот86оMп8лепт8GеEк8е 
пDеп4D4тK 

  

N03A пDот86оMп8лепт8GеEк8е 
пDеп4D4тK 

  

N03AA 54D58туD4тK 8 8E 
пDо876од=Kе 

5е=7о54D58т4л т45летк8 

  Dе=о54D58т4л т45летк8 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N03AB пDо876од=Kе 78д4=то8=4 Dе=8то8= т45летк8 

N03AD пDо876од=Kе 
EукF8=8<8д4 

MтоEукE8<8д к4пEулK 

N03AE пDо876од=Kе 
5е=7од847еп8=4 

кло=47еп4< т45летк8 

N03AF пDо876од=Kе 
к4D5окE4<8д4 

к4D54<47еп8= т45летк8; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9 

  окEк4D547еп8= EуEпе=78O длO пD8е<4 6=утDL; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

N03AG пDо876од=Kе 68D=KE 
к8Eлот 

64лLпDое64O 
к8Eлот4 

7D4=улK E пDоло=78Dо64==K< 
6KE6о5о6де=8е<; 
к4пл8 длO пD8е<4 6=утDL; 
к4пEулK к8HеG=оD4Eт6оD8<Kе; 



 

D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
E8Dоп; 
E8Dоп (длO дете9); 
т45летк8, покDKтKе 
к8HеG=оD4Eт6оD8<о9 о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N03AX дDу78е 
пDот86оMп8лепт8GеEк8е 
пDеп4D4тK 

5D864D4Fет4< т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  л4коE4<8д D4Eт6оD длO 8=Dу789; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  ле6ет8D4Fет4< ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
D4Eт6оD длO пD8е<4 6=утDL; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  пеD4<п4=ел т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  пDе7454л8= к4пEулK 

  топ8D4<4т к4пEулK; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

N04 пDот86оп4Dк8=Eо=8GеEк8
е пDеп4D4тK 

  

N04A 4=т8Eол8=еD78GеEк8е 
EDедEт64 

  

N04AA тDет8G=Kе 4<8=K 58пеD8де= D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
т45летк8 

  тD87екE8Dе=8д8л т45летк8 

N04B доD4<8=еD78GеEк8е 
EDедEт64 

  

N04BA доп4 8 ее пDо876од=Kе ле6одоп4 + к4пEулK; 



 

5е=EеD478д к4пEулK E <од8D8F8Dо64==K< 
6KE6о5о6де=8е<; 
т45летк8; 
т45летк8 д8EпеD78Dуе<Kе 

  ле6одоп4 + 
к4D58доп4 

т45летк8 

N04BB пDо876од=Kе 4д4<4=т4=4 4<4=т4д8= D4Eт6оD длO 8=Dу789; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

N04BC 47о=8EтK доD4<8=о6KE 
DеFептоDо6 

п8D85ед8л т45летк8 E ко=тDол8Dуе<K< 
6KE6о5о6де=8е<, покDKтKе 
о5олоGко9; 
т45летк8 E ко=тDол8Dуе<K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

  пD4<8пекEол т45летк8; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O 

N05 пE8Eолепт8к8   

N05A 4=т8пE8Eот8GеEк8е 
EDедEт64 

  

N05AA 4л8D4т8GеEк8е 
пDо876од=Kе 
Dе=от8478=4 

ле6о<епDо<478= D4Eт6оD длO 8=Dу789 8 
6=утD8<KHеG=о7о 66еде=8O; 
т45летк8, покDKтKе о5олоGко9 

  EлоDпDо<478= дD46е; 
D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

N05AB п8пеD478=о6Kе 
пDо876од=Kе 
Dе=от8478=4 

пеDDе=478= т45летк8, покDKтKе о5олоGко9 

  тD8DлуопеD478= D4Eт6оD длO 6=утD8<KHеG=о7о 
66еде=8O; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  DлуDе=478= D4Eт6оD длO 6=утD8<KHеG=о7о 
66еде=8O (<4EлO=K9) 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N05AC п8пеD8д8=о6Kе 
пDо876од=Kе 
Dе=от8478=4 

пеD8F8478= к4пEулK; 
D4Eт6оD длO пD8е<4 6=утDL 



 

  т8оD8д478= т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

N05AD пDо876од=Kе 
5ут8DоDе=о=4 

74лопеD8дол к4пл8 длO пD8е<4 6=утDL; 
D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO 6=утD8<KHеG=о7о 
66еде=8O; 
D4Eт6оD длO 6=утD8<KHеG=о7о 
66еде=8O (<4EлO=K9); 
т45летк8 

  дDопеD8дол D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO 8=JекF89 

N05AE пDо876од=Kе 8=дол4 луD478до= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

EеDт8=дол т45летк8, покDKтKе о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

N05AF пDо876од=Kе т8окE4=те=4 7уклопе=т8кEол D4Eт6оD длO 6=утD8<KHеG=о7о 
66еде=8O (<4EлO=K9); 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  Dлупе=т8кEол D4Eт6оD длO 6=утD8<KHеG=о7о 
66еде=8O (<4EлO=K9); 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N05AH д847еп8=K, окE47еп8=K, 
т847еп8=K 8 окEеп8=K 

к6ет84п8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 E пDоло=78Dо64==K< 
6KE6о5о6де=8е<, покDKтKе 
пле=оG=о9 о5олоGко9 

  ол4=74п8= т45летк8; 
т45летк8, д8EпеD78Dуе<Kе 6 полоEт8 
Dт4; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N05AL 5е=74<8дK EулLп8D8д к4пEулK; 
D4Eт6оD длO 6=утD8<KHеG=о7о 



 

66еде=8O; 
т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N05AX дDу78е 
4=т8пE8Eот8GеEк8е 
EDедEт64 

к4D8пD478= к4пEулK 

  п4л8пеD8до= EуEпе=78O длO 6=утD8<KHеG=о7о 
66еде=8O пDоло=78Dо64==о7о 
де9Eт68O; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе о5олоGко9 

  D8EпеD8до= поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO 6=утD8<KHеG=о7о 
66еде=8O пDоло=78Dо64==о7о 
де9Eт68O; 
D4Eт6оD длO пD8е<4 6=утDL; 
т45летк8, д8EпеD78Dуе<Kе 6 полоEт8 
Dт4; 
т45летк8 длO D4EE4EK64=8O; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N05B 4=кE8ол8т8к8   

N05BA пDо876од=Kе 
5е=7од847еп8=4 

5Dо<д878дDоEло
DDе=8л-

5е=7од847еп8= 

D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
т45летк8; 
т45летк8, д8EпеD78Dуе<Kе 6 полоEт8 
Dт4 

  д847еп4< D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  лоD47еп4< т45летк8, покDKтKе о5олоGко9 

  окE47еп4< т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N05BB пDо876од=Kе 
д8Dе=8л<ет4=4 

78дDокE878= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

N05C E=от6оD=Kе 8 Eед4т86=Kе   



 

EDедEт64 

N05CD пDо876од=Kе 
5е=7од847еп8=4 

<8д47ол4< D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

  =8тD47еп4< т45летк8 

N05CF 5е=7од847еп8=оподо5=K
е EDедEт64 

7оп8кло= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

N06 пE8Eо4=4лепт8к8   

N06A 4=т8депDеEE4=тK   

N06AA =еEелект86=Kе 
8=7858тоDK о5D4т=о7о 
74E64т4 <о=о4<8=о6 

4<8тD8пт8л8= D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
т45летк8; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  8<8пD4<8= дD46е; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  кло<8пD4<8= D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9; 
т45летк8 пDоло=78Dо64==о7о 
де9Eт68O, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N06AB Eелект86=Kе 8=7858тоDK 
о5D4т=о7о 74E64т4 
EеDото=8=4 

п4DокEет8= к4пл8 длO пD8е<4 6=утDL; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

EеDтD4л8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

DлуокEет8= к4пEулK 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

N06AX дDу78е 4=т8депDеEE4=тK 47о<ел4т8= т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  п8поDе78= т45летк8 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N06B пE8EоEт8<улOтоDK, 
EDедEт64, пD8<е=Oе<Kе 

  

consultantplus://offline/ref=20A49917B53B8212DF44EB90C58FD8719929BABC0AC03F13BF61720EE5429537451AC08335D62F2FBA4217581726847AAE0BD0E75A28773CH6z6H


 

пD8 E8=дDо<е деD8F8т4 
6=8<4=8O E 
78пеD4кт86=оEтLN, 8 
=оотDоп=Kе пDеп4D4тK 

N06BC пDо876од=Kе кE4=т8=4 коDе8= D4Eт6оD длO подко6=о7о 66еде=8O; 
D4Eт6оD длO подко6=о7о 8 
Eу5ко=JN=кт864лL=о7о 66еде=8O 

N06BX дDу78е пE8EоEт8<улOтоDK 
8 =оотDоп=Kе пDеп4D4тK 

68=поFет8= ко=Fе=тD4т длO пD87ото6ле=8O 
D4Eт6оD4 длO 8=Dу789; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
D4Eт6оD длO 8=JекF89; 
т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  7л8F8= т45летк8 74IеG=Kе; 
т45летк8 подJO7KG=Kе; 
т45летк8 74IеG=Kе 8 подJO7KG=Kе 

  <ет8о=8л-

7лут4<8л-

78Eт8д8л-

Dе=8л4л4=8л-

пDол8л-7л8F8л-

пDол8= 

к4пл8 =474лL=Kе 

  п8D4Fет4< к4пEулK; 
D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO 8=Dу789; 
D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
D4Eт6оD длO пD8е<4 6=утDL; 
т45летк8, покDKтKе о5олоGко9; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  пол8пепт8дK 
коDK 7оло6=о7о 
<о774 Eкот4 

л8оD8л874т длO пD87ото6ле=8O 
D4Eт6оD4 длO 6=утD8<KHеG=о7о 
66еде=8O 

  Dо=туD4Fет4< т45летк8 

  FеDе5Dол878= D4Eт6оD длO 8=JекF89 

  F8т8кол8= D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N06D пDеп4D4тK длO леGе=8O 
де<е=F88 

  



 

N06DA 4=т8Eол8=MEтеD47=Kе 
EDедEт64 

74л4=т4<8= к4пEулK пDоло=78Dо64==о7о 
де9Eт68O; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

  D864Eт87<8= к4пEулK; 
тD4=EдеD<4лL=4O теD4пе6т8GеEк4O 
E8Eте<4; 
D4Eт6оD длO пD8е<4 6=утDL 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

N06DX дDу78е пDеп4D4тK длO 
леGе=8O де<е=F88 

<е<4=т8= к4пл8 длO пD8е<4 6=утDL; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

N07 дDу78е пDеп4D4тK длO 
леGе=8O 745оле64=89 
=еD6=о9 E8Eте<K 

  

N07A п4D4E8<п4то<8<ет8к8   

N07AA 4=т8Eол8=MEтеD47=Kе 
EDедEт64 

=еоEт87<8=4 
<ет8лEулLD4т 

D4Eт6оD длO 6=утD86е==о7о 8 
подко6=о7о 66еде=8O; 
D4Eт6оD длO 8=JекF89; 
т45летк8 

  п8D8доEт87<8=4 
5Dо<8д 

т45летк8 

N07AX пDоG8е 
п4D4E8<п4то<8<ет8к8 

Eол8=4 
4лLDоEFеD4т 

к4пEулK; 
D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO 8=Dу789 8 
6=утD8<KHеG=о7о 66еде=8O; 
D4Eт6оD длO пD8е<4 6=утDL 

N07B пDеп4D4тK, пD8<е=Oе<Kе 
пD8 7468E8<оEтOE 

  

N07BB пDеп4D4тK, пD8<е=Oе<Kе 
пD8 4лко7олL=о9 
7468E8<оEт8 

=4лтDекEо= к4пEулK; 
поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO 6=утD8<KHеG=о7о 
66еде=8O пDоло=78Dо64==о7о 
де9Eт68O; 
т45летк8; 
т45летк8, покDKтKе о5олоGко9 

N07C пDеп4D4тK длO 
уEтD4=е=8O 
7оло6окDу6е=8O 

  

N07CA пDеп4D4тK длO 
уEтD4=е=8O 
7оло6окDу6е=8O 

5ет478Eт8= к4пл8 длO пD8е<4 6=утDL; 
к4пEулK; 
т45летк8 



 

N07X дDу78е пDеп4D4тK длO 
леGе=8O 745оле64=89 
=еD6=о9 E8Eте<K 

  

N07XX пDоG8е пDеп4D4тK длO 
леGе=8O 745оле64=89 
=еD6=о9 E8Eте<K 

8=о78= + 
=8кот8=4<8д + 
D85оDл468= + 
O=т4D=4O к8Eлот4 

D4Eт6оD длO 6=утD86е==о7о 
66еде=8O; 
т45летк8, покDKтKе 
к8HеG=оD4Eт6оD8<о9 о5олоGко9 

тетD45е=478= т45летк8 

Mт8л<ет8л78дDок
E8п8D8д8=4 
EукF8=4т 

к4пEулK; 
D4Eт6оD длO 6=утD86е==о7о 8 
6=утD8<KHеG=о7о 66еде=8O; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

P пDот86оп4D478т4D=Kе 
пDеп4D4тK, 8=Eект8F8дK 
8 Dепелле=тK 

  

P01 пDот86опDото7о9=Kе 
пDеп4D4тK 

  

P01B пDот86о<4лOD89=Kе 
пDеп4D4тK 

  

P01BA 4<8=оE8=ол8=K 78дDокE8EлоDоE8
= 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

P01BC <ет4=олE8=ол8=K <еDлоE8= т45летк8 

P02 пDот86о7елL<8=т=Kе 
пDеп4D4тK 

  

P02B пDеп4D4тK длO леGе=8O 
тDе<4тодо74 

  

P02BA пDо876од=Kе E8=ол8=4 8 
DодEт6е==Kе Eоед8=е=8O 

пD478к64=тел т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

P02C пDеп4D4тK длO леGе=8O 
=е<4тодо74 

  

P02CA пDо876од=Kе 
5е=78<8д47ол4 

<е5е=д47ол т45летк8 

P02CC пDо876од=Kе 
тетD478дDоп8D8<8д8=4 

п8D4=тел EуEпе=78O длO пD8е<4 6=утDL; 
т45летк8; 
т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

P02CE пDо876од=Kе 
8<8д47от847ол4 

ле64<87ол т45летк8 



 

P03 пDеп4D4тK длO 
у=8Gто6е=8O 
Mктоп4D478то6 (6 т.G. 
GеEотоG=о7о клеI4), 
8=Eект8F8дK 8 
Dепелле=тK 

  

P03A пDеп4D4тK длO 
у=8Gто6е=8O 
Mктоп4D478то6 (6 т.G. 
GеEотоG=о7о клеI4) 

  

P03AX пDоG8е пDеп4D4тK длO 
у=8Gто6е=8O 
Mктоп4D478то6 (6 т.G. 
GеEотоG=о7о клеI4) 

5е=78л5е=7о4т <47L длO =4Dу6=о7о пD8<е=е=8O; 
M<улLE8O длO =4Dу6=о7о 
пD8<е=е=8O 

R дKE4телL=4O E8Eте<4   

R01 =474лL=Kе пDеп4D4тK   

R01A деко=7еEт4=тK 8 дDу78е 
пDеп4D4тK длO <еEт=о7о 
пD8<е=е=8O 

  

R01AA 4дDе=о<8<ет8к8 кE8ло<ет47ол8= 7елL =474лL=K9; 
к4пл8 =474лL=Kе; 
к4пл8 =474лL=Kе (длO дете9); 
EпDе9 =474лL=K9; 
EпDе9 =474лL=K9 до78Dо64==K9; 
EпDе9 =474лL=K9 до78Dо64==K9 
(длO дете9) 

R02 пDеп4D4тK длO леGе=8O 
745оле64=89 7оDл4 

  

R02A пDеп4D4тK длO леGе=8O 
745оле64=89 7оDл4 

  

R02AA 4=т8Eепт8GеEк8е 
пDеп4D4тK 

9од + к4л8O 
9од8д + 7л8FеDол 

D4Eт6оD длO <еEт=о7о пD8<е=е=8O; 
EпDе9 длO <еEт=о7о пD8<е=е=8O 

R03 пDеп4D4тK длO леGе=8O 
о5EтDукт86=KE 
745оле64=89 
дKE4телL=KE путе9 

  

R03A 4дDе=еD78GеEк8е 
EDедEт64 длO 
8=74лOF8о==о7о 66еде=8O 

  

R03AC Eелект86=Kе 5ет4 2-

4дDе=о<8<ет8к8 

8=д4к4теDол к4пEулK E поDоHко< длO 8=74лOF89 

  E4лL5ут4<ол 4MDо7олL длO 8=74лOF89 
до78Dо64==K9; 



 

4MDо7олL длO 8=74лOF89 
до78Dо64==K9, 4кт868Dуе<K9 
6доEо<; 
поDоHок длO 8=74лOF89 
до78Dо64==K9; 
D4Eт6оD длO 8=74лOF89 

  DоD<отеDол 4MDо7олL длO 8=74лOF89 
до78Dо64==K9; 
к4пEулK E поDоHко< длO 8=74лOF89; 
поDоHок длO 8=74лOF89 
до78Dо64==K9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

R03AK 4дDе=еD78GеEк8е 
EDедEт64 6 ко<58=4F88 E 
7лNкокоDт8ко8д4<8 8л8 
дDу78<8 пDеп4D4т4<8, 
кDо<е 
4=т8Eол8=еD78GеEк8E 
EDедEт6 

5екло<ет47о= + 
DоD<отеDол 

4MDо7олL длO 8=74лOF89 
до78Dо64==K9 

5удеEо=8д + 
DоD<отеDол 

к4пEул E поDоHко< длO 8=74лOF89 
=45оD; 
поDоHок длO 8=74лOF89 
до78Dо64==K9; 
к4пEулK E поDоHко< длO 8=74лOF89 

  68л4=теDол + 
Dлут8к47о=4 
DуDо4т 

поDоHок длO 8=74лOF89 
до78Dо64==K9 

  E4л<етеDол + 
Dлут8к47о= 

4MDо7олL длO 8=74лOF89 
до78Dо64==K9; 
к4пEулK E поDоHко< длO 8=74лOF89; 
поDоHок длO 8=74лOF89 
до78Dо64==K9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

R03AL 4дDе=еD78GеEк8е 
EDедEт64 6 ко<58=4F88 E 
4=т8Eол8=еD78GеEк8<8 
EDедEт64<8, 6клNG4O 
тDо9=Kе ко<58=4F88 E 
коDт8коEтеDо8д4<8 

4кл8д8=8O 
5Dо<8д + 
DоD<отеDол 

поDоHок длO 8=74лOF89 
до78Dо64==K9 

68л4=теDол + 
у<екл8д8=8O 
5Dо<8д 

поDоHок длO 8=74лOF89 
до78Dо64==K9 

68л4=теDол + 
у<екл8д8=8O 
5Dо<8д + 
Dлут8к47о=4 
DуDо4т 

поDоHок длO 8=74лOF89 
до78Dо64==K9 

7л8коп8DDо=8O 
5Dо<8д + 
8=д4к4теDол 

к4пEулK E поDоHко< длO 8=74лOF89 

8пD4тDоп8O 
5Dо<8д + 

4MDо7олL длO 8=74лOF89 
до78Dо64==K9; 
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коEт=о9 тк4=8 

  

V10BX D47=Kе 
D4д8оD4D<4Fе6т8GеEк8е 
EDедEт64 длO у<е=LHе=8O 
5ол8 

EтDо=F8O EлоD8д 
89Sr 

D4Eт6оD длO 6=утD86е==о7о 
66еде=8O 

V10X дDу78е теD4пе6т8GеEк8е 
D4д8оD4D<4Fе6т8GеEк8е 
EDедEт64 

  

V10XX D47=Kе теD4пе6т8GеEк8е 
D4д8оD4D<4Fе6т8GеEк8е 
EDедEт64 

D4д8O EлоD8д 
[223 Ra] 

D4Eт6оD длO 6=утD86е==о7о 
66еде=8O 

 

 

 

�D8ло6е=8е N 2 

к D4EпоDO6е=8N �D468телLEт64 

 оEE89Eко9 $едеD4F88 

от 12 октO5DO 2019 7. N 2406-D 

 

�� �'��0 

Л�К� !&����/% � ��� �&О� �Л/ ����&��!КО�О � �������/, 
� &О� '�!Л� Л�К� !&����/% � ��� �&О� �Л/ ����&��!КО�О 

� �������/, �����'���/% �О  �(���. � �'���/% КО��!!�� 

����&��!К�% О ������&�� 

 

'тD4т8л E8лу E 1 O=64DO 2021 7од4. -  4EпоDO6е=8е �D468телLEт64  $ от 23.11.2020 N 3073-D. 
 

 

 

�D8ло6е=8е N 3 

к D4EпоDO6е=8N �D468телLEт64 

 оEE89Eко9 $едеD4F88 

от 12 октO5DO 2019 7. N 2406-D 

 

�� �'��0 

Л�К� !&����/% � ��� �&О�, � �������'���/% 



 

�Л/ О��!��'���/ Л�&, �ОЛ0�/% ���О$�Л���, �'КО��!&��О�О�, 
���О$��� �/� ������О�, �ОЛ���0. �О(�, �ЛОК�'�!&����/�� 

�О�ОО� ��О����/�� Л��$О���О�, К О��&�О �О� �  О�!&����/% 

�� &К����,  �!!�/��/� !КЛ� О�О�, ���ОЛ�&�КО-' ���'�!К�� 

!��� О�О�, .�О(�!К�� � & �&О� ! !�!&���/� ��'�ЛО�, 
�'КО�ОЛ�!�%� ��О�О� I, II � VI &��О�, ��Л�!&�'�!КО� ������� 

��'&О'����О�, ��!Л��!&����/� ��$�&�&О� $�К&О О� II 
($�� ��О����), VII (Л���Л0�О�О), X (!&.� &� - � �'1 �), 
Л�& �О!Л� & ��!�Л��&�&�� О ���О� � (�Л�) &К���� 

 

  !п8Eок 87<е=ONI8E доку<е=то6 

(6 Dед. D4EпоDO6е=89 �D468телLEт64  $ от 26.04.2020 N 1142-D, 
от 23.11.2020 N 3073-D, от 23.12.2021 N 3781-D 

) 

 

 

I. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе 7е<оD8л8е9 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 
 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе DоD<K 

B кDо6L 8 E8Eте<4 кDо6ет6оDе=8O  

B02 7е<оEт4т8GеEк8е EDедEт64  

B02B 68т4<8= К 8 дDу78е 7е<оEт4т8к8  

B02BD D4ктоDK E6еDтK64=8O кDо68 4=т88=7858тоD=K9 ко47улO=т=K9 
ко<плекE 

  <оDоктоко7 4лLD4 

  =о=4ко7 4лLD4 

  октоко7 4лLD4 

  E8<октоко7 4лLD4 

  D4ктоD E6еDтK64=8O кDо68 VIII 

  D4ктоD E6еDтK64=8O кDо68 VIII + D4ктоD 
�8лле5D4=д4 

  D4ктоD E6еDтK64=8O кDо68 IX 

  Mпт4ко7 4лLD4 (4кт868Dо64==K9) 

  MD<оDоктоко7 4лLD4 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

B02BX дDу78е E8Eте<=Kе 7е<оEт4т8к8 M<8F87у<45 

 

II. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе <уко68EF8до7о< 



 

 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

R дKE4телL=4O E8Eте<4  

R05 пDот86ок4Hле6Kе пDеп4D4тK 8 EDедEт64 
длO леGе=8O пDоEтуд=KE 745оле64=89 

 

R05C отE4Dк864NI8е пDеп4D4тK, кDо<е 
ко<58=4F89 E пDот86ок4Hле6K<8 
EDедEт64<8 

 

R05CB <укол8т8GеEк8е пDеп4D4тK доD=474 4лLD4 

 

III. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе 78поD874D=O< =4=87<о< 

 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

H 7оD<о=4лL=Kе пDеп4D4тK E8Eте<=о7о 
де9Eт68O, кDо<е поло6KE 7оD<о=о6 8 
8=Eул8=о6 

 

H01 7оD<о=K 78поD874 8 78пот4л4<уE4 8 8E 
4=4ло78 

 

H01A 7оD<о=K пеDед=е9 дол8 78поD874 8 8E 
4=4ло78 

 

H01AC Eо<4тDоп8= 8 е7о 47о=8EтK Eо<4тDоп8= 

 

IV. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе 5оле7=PN �оHе 

 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

A п8Iе64D8телL=K9 тD4кт 8 о5<е= 
6еIеEт6 

 

A16 дDу78е пDеп4D4тK длO леGе=8O 
745оле64=89 6елудоG=о-к8HеG=о7о 
тD4кт4 8 =4DуHе=89 о5<е=4 6еIеEт6 

 

A16A дDу78е пDеп4D4тK длO леGе=8O 
745оле64=89 6елудоG=о-к8HеG=о7о 
тD4кт4 8 =4DуHе=89 о5<е=4 6еIеEт6 

 

A16AB DеD<е=т=Kе пDеп4D4тK 6ел47лNFеD474 4лLD4 

  8<87лNFеD474 

  т4л87лNFеD474 4лLD4 



 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.11.2020 N 3073-D) 

 

V. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе 7лок4GеEт6е==O<8 =о6оо5D47о64=8O<8 л8<Dо8д=о9, 
кDо6ет6оD=о9 8 DодEт6е==OE 8< тк4=е9 (EDо=8GеEк89 

<8ело8д=O9 ле9ко7, <4кDо7ло5ул8=е<8O �4лPде=EтDе<4, 
<=о6еEт6е==4O <8ело<4, Dолл8кулOD=4O (=одулOD=4O) 
=еEод6к8=Eк4O л8<Dо<4, <елкоклетоG=4O (д8DDу7=4O) 

=еEод6к8=Eк4O л8<Dо<4, <елкоклетоG=4O E D4EIепле==O<8 

OдD4<8 (д8DDу7=4O) =еEод6к8=Eк4O л8<Dо<4, кDуп=оклетоG=4O 

(д8DDу7=4O) =еEод6к8=Eк4O л8<Dо<4, 8<<у=о5л4Eт=4O 

(д8DDу7=4O) =еEод6к8=Eк4O л8<Dо<4, дDу78е т8пO д8DDу7=OE 

=еEод6к8=Eк8E л8<Dо<, д8DDу7=4O =еEод6к8=Eк4O л8<Dо<4 

=еутоG=е==4O, дDу78е 8 =еутоG=е==Oе т8пO =еEод6к8=Eко9 

л8<Dо<O, EDо=8GеEк89 л8<DоF8т4D=O9 ле9ко7) 
 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

L пDот86оопуEоле6Kе пDеп4D4тK 8 
8<<у=о<одулOтоDK 

 

L01 пDот86оопуEоле6Kе пDеп4D4тK  

L01B 4=т8<ет45ол8тK  

L01BB 4=4ло78 пуD8=4 Dлуд4D458= 

L01X дDу78е пDот86оопуEоле6Kе пDеп4D4тK  

L01XC <о=окло=4лL=Kе 4=т8тел4 д4D4ту<у<45 

D8тукE8<45 

L01XE 8=7858тоDK пDоте8=к8=47K 8<4т8=85 

L01XX пDоG8е пDот86оопуEоле6Kе пDеп4D4тK 5оDте7о<85 

8кE47о<85 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

L04AX дDу78е 8<<у=одепDеEE4=тK ле=4л8до<8д 

  по<4л8до<8д 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

 

VI. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе D4EEеO==O< EклеDо7о< 

 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

L03 8<<у=оEт8<улOтоDK  



 

L03A 8<<у=оEт8<улOтоDK  

L03AB 8=теDDеDо=K 8=теDDеDо= 5ет4-1a 

  8=теDDеDо= 5ет4-1b 

  пM78=теDDеDо= 5ет4-1a 

L03AX дDу78е 8<<у=оEт8<улOтоDK 7л4т8D4<еD4 4Fет4т 

L04 8<<у=одепDеEE4=тK  

L04A 8<<у=одепDеEE4=тK  

L04AA Eелект86=Kе 8<<у=одепDеEE4=тK 4ле<ту7у<45 

  кл4дD858= 

  =4т4л87у<45 

  окDел87у<45 

  теD8Dлу=о<8д 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 23.12.2021 N 3781-D) 

 

VII. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

п4F8е=тO поEле тD4=Eпл4=т4F88 оD74=о6 8 (8л8) тк4=е9 

 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

L пDот86оопуEоле6Kе пDеп4D4тK 8 
8<<у=о<одулOтоDK 

 

L04 8<<у=одепDеEE4=тK  

L04A 8<<у=одепDеEE4=тK  

L04AA Eелект86=Kе 8<<у=одепDеEE4=тK <8коDе=ол4т4 <оDет8л 

  <8коDе=оло64O к8Eлот4 

M6еDол8<уE 

L04AD 8=7858тоDK к4лLF8=е6D8=4 т4кDол8<уE 

  F8клоEпоD8= 

 

VIII. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе 7е<ол8т8ко-уDе<8GеEк8< E8=дDо<о< 

 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

   



 

L04 8<<у=одепDеEE4=тK  

L04A 8<<у=одепDеEE4=тK  

L04AA Eелект86=Kе 8<<у=одепDеEE4=тK Mкул87у<45 

 

IX. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе N=оHеEк8< 4DтD8то< E E8Eте<=O< =4G4ло< 

 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

L04 8<<у=одепDеEE4=тK  

L04A 8<<у=одепDеEE4=тK  

L04AB 8=7858тоDK D4ктоD4 =екDо74 опуEол8 
4лLD4 ($�О-4лLD4) 

4д4л8<у<45 

  Mт4=еDFепт 

L04AC 8=7858тоDK 8=теDле9к8=4 к4=4к8=у<45 

  тоF8л87у<45 

 

X. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе <укопол8E4E4D8до7о< I т8п4 

 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

A16 дDу78е пDеп4D4тK длO леGе=8O 
745оле64=89 6елудоG=о-к8HеG=о7о 
тD4кт4 8 =4DуHе=89 о5<е=4 6еIеEт6 

 

A16A дDу78е пDеп4D4тK длO леGе=8O 
745оле64=89 6елудоG=о-к8HеG=о7о 
тD4кт4 8 =4DуHе=89 о5<е=4 6еIеEт6 

 

A16AB DеD<е=т=Kе пDеп4D4тK л4Dо=8д474 

 

XI. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе <укопол8E4E4D8до7о< II т8п4 

 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

A16 дDу78е пDеп4D4тK длO леGе=8O 
745оле64=89 6елудоG=о-к8HеG=о7о 
тD4кт4 8 =4DуHе=89 о5<е=4 6еIеEт6 

 

A16A дDу78е пDеп4D4тK длO леGе=8O 
745оле64=89 6елудоG=о-к8HеG=о7о 
тD4кт4 8 =4DуHе=89 о5<е=4 6еIеEт6 

 



 

A16AB DеD<е=т=Kе пDеп4D4тK 8дуDEулLD474 

  8дуDEулLD474 5ет4 

 

XII. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе <укопол8E4E4D8до7о< VI т8п4 

 

Код �&% �=4то<о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

A16 дDу78е пDеп4D4тK длO леGе=8O 
745оле64=89 6елудоG=о-к8HеG=о7о 
тD4кт4 8 =4DуHе=89 о5<е=4 6еIеEт6 

 

A16A дDу78е пDеп4D4тK длO леGе=8O 
745оле64=89 6елудоG=о-к8HеG=о7о 
тD4кт4 8 =4DуHе=89 о5<е=4 6еIеEт6 

 

A16AB DеD<е=т=Kе пDеп4D4тK 74лEулLD474 

 

XIII. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе 4пл4Eт8GеEко9 4=е<8е9 =еутоG=е==о9 

(66еде= D4EпоDO6е=8е< �D468телLEт64  $ от 26.04.2020 N 1142-D) 
 

Код �&% �=4то<=о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

L 
пDот86оопуEоле6Kе пDеп4D4тK 8 
8<<у=о<одулOтоDK 

 

L04 8<<у=одепDеEE4=тK  

L04A 8<<у=одепDеEE4=тK  

L04AD 8=7858тоDK к4лLF8=е6D8=4 F8клоEпоD8= 

 

XIV. Лек4DEт6е==Oе пDеп4D4тO, котоDO<8 о5еEпеG864NтEO 

5олP=Oе =4EледEт6е==O< деD8F8то< D4ктоDо6 II (D85D8=о7е=4), 
VII (л458лP=о7о), X (!тN4Dт4 - �D4уQD4) 

(66еде= D4EпоDO6е=8е< �D468телLEт64  $ от 26.04.2020 N 1142-D) 
 

Код �&% �=4то<=о-теD4пе6т8GеEко-E8<8GеEк4O 
кл4EE8D8к4F8O (�&%) 

Лек4DEт6е==Kе пDеп4D4тK 

B кDо6L 8 E8Eте<4 кDо6ет6оDе=8O  

B02 7е<оEт4т8GеEк8е EDедEт64  

B02B 68т4<8= K 8 дDу78е 7е<оEт4т8к8  

B02BD D4ктоDK E6еDтK64=8O кDо68 Mпт4ко7 4лLD4 (4кт868Dо64==K9) 

 


